WAEREKR (AOHIHA)

T SREE ZEREL BB REEX
LR 2 1 1 1.0
Bz s H 6 6 5 1.2
H A F 5 5 5 1.0
HAXZR (F8) 2 1 1 1.0
HBALER 11 10 10 1.0
FRER D EZ R 12 12 12 1.0
RERBUFR 8 8 8 1.0
a5 46 43 42 -
BAERRIR (AO#KHD)
P SREE L SZEREL BIEER REFEX
L3R 0 — — —
B A sE A 2 2 2 1.0
B AR 0 — — —
HAXFR (FiE&) 0 — — —
HBALER 2 2 2 1.0
FRAR D EBF R 2 1 1 1.0
RERUZH 2 2 2 1.0
= 8 7 7 -




BCHBAFHRCEE [ERZEHE]

FR TREE TEREH BIEEH EEEE
R 0 — _
HASZHR 6 6 6
HAXZHR 10 10 10
HeEuFR 2 2 2
iye RSy S 6 6 6
RERUFR 4 4 4
=) 28 28 8




